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1.

IMAT Q20 (2011)

Here, the answer is A.  

The conclusion is highlighted in yellow whereby people who are left handed should 
receive support as this is considered a disability. The premise, highlighted in blue, states 
that the world is organised in order to make the attainment of success in people easier. 
Therefore, the assumption is that being left handed, presented as a minority in the text, 
is a disability which results in decreased success in life. Statement A is therefore correct 
because if we consider that top scientists, sportsmen, actors, musician and politicians 
have a greater percentage of being left handed, this acts to weaken the argument as 
these roles or occupations are widely accepted as successful roles or jobs. Therefore, it 
does not support the overarching conclusion that left handed people are less likely to 
achieve success in their lives and that they need additional help.


Statement B is irrelevant to the text as there is no discussion of spatial skills and the 
rates of car crashes. 


Statement C also does not weaken the argument as there is no mention of health 
issues in left handed people. 


Statement D is also irrelevant as no tools are mentioned in the text. 


Statement E is also incorrect to the overarching conclusion as making left handed 
people write with their right hand does not act to weaken that argument. 
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2.

IMAT Q32 (2011)

Here, the answer is D.  

The conclusion, highlighted in yellow, states that ‘people are more aware of what is 
good for their own health and wellbeing than the medical profession is.’ The premise to 
the conclusion, highlighted in blue, states that people do not follow medical health 
advice as there is too much of it and it is often contradictory. Statement D therefore 
directly weakens this argument as it states that improvements of population health were 
observed in areas where people followed medical advice given by doctors. This directly 
opposes what is said in the premise. 


Statement A, B and E are irrelevant to the premise and main conclusion of the text and 
therefore do not act to weaken the conclusion. 


Statement C is incorrect because this argument would strength the main conclusion, as 
it suggests that people know how to improve their own health and well being without the 
advice or help of doctors. This is synonymous with the conclusion in the text.  
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3.

IMAT Q12 (2012)

Here, the answer is D.  

The conclusion, highlighted in yellow, states that the popularity of certain music does 
not correlate with the official ratings of the music or artists. This can be supported by 
statement D. The fact that specific types of music have fans that share works more than 
other types of music implies that it is even harder to rely on the reliability of official 
ratings as a reflection of relative popularity of the work. This is because some work 
could be much more popular than it actually seems, where as other artists or works are 
under-represented by these official ratings. Therefore, statement D acts to strengthen 
the main conclusion. 


Statement A to some extent contradicts what is being stated in the text that it is hard to 
know the extent of downloads and how much this is shared with other fans. Therefore, 
this is incorrect. 


Statement B is irrelevant to the argument. 


Statement C is also irrelevant to the argument. 


Statement E is synonymous with the conclusion. This is not an additional argument that 
acts to strengthen the conclusion.  
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4.

IMAT Q23 (2012)

Here, the answer is D.  

The main conclusion, highlighted in yellow, states that calorie labelling of foods is 
important due to the secondary effects that obesity causes such as cancer, heart 
disease and diabetes. Statement D therefore strengthens the argument as when food is 
calorie labelled, consumers alter their eating habits. This may imply that if foods are 
labelled as having a high number of calories that consumers may change their choice of 
foods and may reduce obesity. 


Statement A is incorrect because there is no mention of ‘looks’ in the text. 


Statement B is incorrect because this does not directly act to support the argument 
that calorie labelling will help with the obesity crisis. 


Statement C is incorrect because it is irrelevant to the main conclusion. 


Statement E is also irrelevant to the main conclusion and therefore incorrect. 
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5.

IMAT Q34 (2012)

Here, the answer is C.  

The conclusion, highlighted in yellow, argues that global warming is a longterm change 
in the average temperature of the world. Statement C acts to support this conclusion as 
it states that other regions in the Northern Hemisphere were hotter than previous 
winters. Therefore, this statement supports the conclusion as it argues that  there has 
been a gradual incline in average temperatures over a longer period of time, despite the 
previous winter being colder than usual. 

http://www.medicmind.co.uk


Assessing the Impact of 
Additional Evidence

IMAT Section 1: Logical Reasoning - Critical Thinking

 6© 2020

6.

IMAT Q36 (2012)

Here, the answer is B.  

The paragraph ends by explaining that driving in areas with less lit up roads increases 
the likelihood of accidents in comparison to those who have driven exclusively without 
lighting on roads. Therefore, the only difference between these two scenarios is that 
there was light in one and not in the other. Therefore, statement B strengthens the 
argument by stating that well lit areas may lead to a lack of concentration, which in turn 
can lead to an increase in accidents. Therefore, it supports the conclusion that parts of 
the road that are better lit than other can cause an increase in accidents. 


Statement A is irrelevant as the passage discusses accidents caused at night and not 
during the daytime. 


Statement C is incorrect because the passage speaks about accidents in general rather 
than the population that is more likely to experience an accident due to poor lighting. 


Statement D is incorrect because this would weaken the argument. 


Statement E is incorrect because this too is irrelevant to the main conclusion that roads 
that are better lit can lead to an increase in accidents. 
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7.

IMAT Q2 (2013)

Here, the answer is E.  

The conclusion of the passage, highlighted in yellow, argues that drug companies will 
stop producing important drugs in fear that rival drug companies will produce a similar 
drug. However, statement E weakens this argument by stating that strong patent laws 
prevent rival companies from using protected information to create such rival drugs. This 
therefore weakens the argument as drug companies would not have to worry about their 
competitors as a patent provides them with the protection and the license to be the sole 
producer in the market to produce that specific drug. 


Statement A is irrelevant to the argument as there is no discussion about the quantity of 
new drugs. 


Statement B is incorrect because this would act to strengthen the argument. 


Statement C is incorrect because this does not influence the main conclusion. 


Statement D is irrelevant as there is no comparison mentioned between other countries. 
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8.

IMAT Q10 (2014)

Here, the answer is B.  

The passage concludes, as highlighted in yellow, that the rules should first  be 
implemented in amateur games rather than at the professional level. Therefore, the 
game will adopt these changes from the bottom upwards. However, we are therefore 
assuming that professional players who play at the highest level will have started playing 
in an amateur team and therefore game. Thus, the argument that most weakens this 
conclusion is statement D. If not many professionals start playing in the amateur 
leagues, there is no guarantee that the changes adopted in the amateur leagues will 
reach the top leagues. 


Statement A can weaken the argument but it does not suggest a way these amateur 
players would impact the top player level rules. Therefore, this is an assumption off of an 
assumption and is therefore incorrect. 


Statement C is incorrect because the conclusion highlights the use of amateur players 
in order to change the action of players in top leagues rather than implementing these 
changes because the amateur players are the most abusive players. 


Statement D & E are both irrelevant to the overarching conclusion. 
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9.

IMAT Q13 (2014)

Here, the answer is E.  

The passage concludes, highlighted in yellow, that the use of shocking pictures of the 
damage smoking causes is a cost effective way to decrease rates of smoking. As a 
result of this, all countries should implement such techniques to discourage smoking. 
However, statement E most weakens this argument because it offers another possibility 
as to why smokers may be discouraged to smoke and quit. Therefore, weakening the 
conclusion that shocking imagery used on cigarette packages is a cost effective way to 
help smokers quit. 


Statement A is incorrect because this would strengthen the argument. 


Statement B is incorrect because although it is an argument against smoking it does 
not directly mention the effect these images have on smokers. 


Statement C is making an assumption off of an assumption that because other 
countries are encouraged to do so that for example the USA is planning on using such 
techniques. Thus it is incorrect. 


Statement D is irrelevant to the main conclusion and is therefore incorrect. 
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10.

IMAT Q1 (2015)

Here, the answer is B.  

The paragraph summarises that hot oxygen atoms may have combined with carbon 
which would have burnt to produce carbon dioxide. The amount of oxygen atoms would 
decreases the further away from the Sun. Statement B therefore strengthens this 
conclusion because if the abundance of carbon dioxide increases the further away from 
the Sun, then it would explain how it would be possible for planets to form given the 
concluding statement.  
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11.

IMAT Q5 (2015)

Here, the answer is E.   

The conclusion here, highlighted in yellow, states that if children are exposed to 
activities such as gardening that they will thus become interested in gardening itself. 
This would hopefully lead to an increase children being more interested about where 
their food comes from and will be deterred from eating junk food. Therefore, statement E 
is correct because it weakens the argument the most. If children did enjoy the gardening 
events but did not gain an interest in it, then the conclusion is weakened. 


Statement A is incorrect because it is irrelevant to the argument. 


Statement B is incorrect because there is no mention of junk food stands being present 
at the school and the sort of impact this would have on children. 


Statement C is irrelevant to the overarching conclusion. 


Statement D is also irrelevant to the overarching conclusion as the passage discusses 
the introduction of gardening in children at school. 
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12.

IMAT Q14 (2016)

Here, the answer is D.   

The passage concludes, highlighted in yellow, that the reason for the decreased life 
expectancy is due to obesity and lack of exercise compared to other rich countries. 
However, statement D offers an alternative possibility as to why the USA may have a 
reduced life expectancy compared to other rich countries and is therefore the correct 
answer.  


Statement A is incorrect because this does not weaken the argument. It reinforces the 
idea that a variable such as healthcare is at the same standard in most rich countries 
and so is not a reason for the USA to have a reduced life expectancy. 


Statement B is incorrect because it is irrelevant to the overarching conclusion. 


Statement C is incorrect because this would act to strengthen the argument that Japan 
has a healthier diet compared to the USA. 


Statement E is incorrect because this levels the playing field amongst other rich 
countries. 
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13.

IMAT Q15 (2016)

Here, the answer is B.  

The paragraph concludes, highlighted in yellow, that research has found that badgers 
can transmit TB to cattle and cause serious disease and death. Therefore, in order to 
protect farmers from loss of their cattle and livelihood, culling of badgers should be 
allowed. This conclusion is weakened by statement B which provides an alternative 
possibility regarding the  origin and spread of TB. It implies that badgers are not the sole 
reason as to why cattle are dying from TB. Therefore, statement B is correct. 


Statement A is incorrect because this not relevant to the overarching conclusion, that 
badgers transmit TB to cattle and should therefore be culled. 


Statement C is irrelevant to the argument. 


Statement D is also irrelevant to the argument. 


Statement E does not act to weaken the argument as the conclusion argues that culling 
badgers would protect cattle and so is incorrect. 
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14.

IMAT Q18 (2016)

Here, the answer is B.   

The conclusion, highlighted in yellow, states that if the government wishes to improve 
the lives of those living with long term health problems, that they should implement an 
‘opt out’ organ donation scheme. Statement B strengthens this argument because if the 
number of voluntary organ donations remains small and does not increase, then the 
conclusion offers an appropriate method to increase organ donations. 


Statement A is incorrect because it does not relate to the overarching conclusion. 


Statement C is incorrect because it would act to weaken the argument, because even if 
organ donations increased, the organs may not be suitable to those who need them.


Statement D is incorrect because it is irrelevant to the overarching conclusion. 


Statement E is incorrect because this would also act to weaken the argument, as the 
conclusion assumes that the opt-out organ donation scheme would increase organs 
donated. 
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15.

IMAT Q19 (2016)

Here, the answer is E.  

The conclusion, as highlighted in yellow, states that catwalk fashion is not suitable for 
most women and how they do not represent clothing in real life. The conclusion is 
supported by the premise that male catwalk models are being used to model women’s 
fashion, supporting that women’s catwalk fashion is indeed not suitable for women. 
Statement E supports this conclusion because if surveys of young women’s opinions 
suggest that the use of male models makes the typical model physique less desirable to 
attain, then this further reaffirms that fashions used are not appropriate and do not reflect 
a realistic and attainable image of femininity. 


Statement A is incorrect because this does not relate to the main overarching conclusion. 


Statement B is incorrect because there is no mention of this. 


Statement C is also incorrect as this does not relate to the overarching conclusion. 


Statement D is also irrelevant to the argument. 
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16.

IMAT Q11 (2017)

Here, the answer is E.  

The passage concludes, as highlighted in yellow, that trawling can be beneficial to fish 
populations who can in fact proliferate when resistant to the effects of trawling. 
Therefore, ‘trawling on flat sandy beds in shallow areas can benefit marine life.’ 
Therefore, the assumption is that it will only benefit resistant species but does not 
mention other species that are perhaps not resistant to trawling. Therefore, statement E 
best weakens this argument because endangered species who are perhaps not resistant 
to the effects of trawling can be severely affected. 


Statements A & D act by strengthening the argument as both state positive aspects of 
trawling, therefore supporting the argument. 


Statements B & C are irrelevant to the overarching conclusion. 
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17.

IMAT Q14 (2017)

Here, the answer is B.  

The passage concludes, as highlighted in yellow, that studying to become a forensic 
scientist has become more popular due to its increase in media attention in television 
programmes. Therefore, an increase in forensic scientist graduates will make it harder to 
attain a job in the field. This conclusion is best weakened by statement B, whereby if 
many students of forensic science go on to pursue careers in other areas therefore do 
not face the fierce competition in a job in forensic science. 


Statement A & C would act to strengthen the argument. 


Statement D may to some extent support the argument if we assume that an increase 
in forensic science courses has led to an increase forensic student graduates. 


Statement E is irrelevant to the main overarching conclusion. 
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18.

IMAT Q8 (2018)

Here, the answer is A.  

The passage concludes, as highlighted in yellow, that cattle cannot be protected from 
badgers who have TB, despite badgers being able to vaccinated against TB. Therefore, 
the only way to stop bovine TB is through the killing of badgers. Statement A acts to 
strengthen this conclusion because if five annual vaccinations are necessary to contain 
TB in one badger, then we can assume that this may not be a feasible way to contain TB 
within badgers. Thus, it helps to strengthen the argument that badgers should be culled 
in order to prevent the spread of bovine TB. 


Statements B, C, D & E in fact act to weaken the argument and suggest a reason why 
culling badgers is not an effective, necessary or sufficient method to contain bovine TB. 
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19.

IMAT Q16 (2018)

Here, the answer is C.  

The passage concludes, highlighted in yellow, that deepwater drilling should be banned 
without clear and strict regulations that prevent oil spills from occurring. Therefore, 
allowing these oil drills to function safely in order to protect and maintain the livelihoods 
of people living in these areas that would be affected by spills from these drills. 
Statement C acts to weaken the overarching conclusion because it implies that banning 
such deepwater drilling would have a negative feedback effect on poor people as this 
would cause a rise in oil prices which would have even greater negative repercussions 
compared to spills from deepwater drilling. 


Statements A. B, D & E do not directly relate to the overarching conclusion and are 
therefore incorrect. 
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20.

IMAT Q4 (2019)

Here, the answer is C.  

The passage concludes, as highlighted in yellow, that solid and laminate floors have 
become more fashionable over carpeted floors, primarily because they are more eco-
friendly. Therefore, statement C acts to weaken this conclusion because if most laminate 
and wooden floors used petrochemicals in their manufacture, it contradicts the primary 
reason why consumers are switching from carpeted floors to laminate and wooden 
floors. 


Statements A, B, D & E are all irrelevant to the overarching conclusion and are not 
directly mentioned in the text either. 
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